RGN ?3??3 65/5!3

__________________________

AT, rmmpmmm s mmmm e m oo ' olteiell Y- S T IR F !
RollNo. ' &+ 4 & & 4 1 4 1 GE-EwsewEiw I

! Candidates must write the Q.P. Code
1 on the title page of the answer-book.

. F91 9 o o6 @ IH-= A iR us 7 )

. ST -9 A q1fen g7l ol 3 fow e w9 -uw e Y BT Iw-gien % gy T g |
. FIT T T R 9 WA-T H 14 T &

. I T 1 I TG Y& 9 A 15, IT-Gieht § T R i aravd ford |

. T T3 1 T 1 15 T 1 v T o 1 e 0 oo gt 10,15 9
foraT ST 10,15 991 | 10.30 < 9% BT Shaol YeT-93 1 T30 3R 30 @iy & e
I -Gt WIS I A fordin

] Please check that this question paper contains 7 printed pages.

) Q.P. Code given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

. Please check that this question paper contains 14 questions.

. Please write down the Serial Number of the question in the answer-book before

attempting it.

) 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m, From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
EEEI T B
[=]Re. MATHEMATICS et
e age - 2 woe STferBaH 3% : 40
Time allowed : 2 hours Maximum Marks : 40

65/5/3 1 [P.TO.




2
IR (7357
ﬁwﬁféﬁﬁ%ﬂ#@m#a@qaﬁmmﬁwaﬁﬁv

L 39 Y37-97 & 7T GUS- F, @ AT TE

& Gvg 73T 81

@UB-F 7 6 TY-IH FFR-1 3 597 & [573 9% % 2 37 &/

GUS~T ¥ 4 TY-FR JFR-11 & F57 & o0 5% & 3 5% &)

GV~ § 4 Z -39 577 & forrdd 370% & 4 37% &)

FO T 7 A1l ey Rar 731 8/

T 14 Y JTV ST HTHIRT 597 & a1 oy & 5w @ geoves & 2 a7 &)

N kR wN

WU H
¥ HEAT 1 | 6 e TAF W97 ¥ 2 376 3

1. W1 AB F %t afieo 2

2x-1_y+2 z-3
12 2 3

@1 AB % Wi ¥ - mmﬁﬁm

2. sna#ﬁrqjm

3. (%) =i ARB*Rw
P(A)z%, P(B) = % R P(Kuﬁ) = % 2l
1 shifere T 7 A 3t B &aa wreand & 9
HAFT
(@) uHaB, ﬁiaﬁﬁﬁaaﬂwmﬁééla@mB 1 2 Tthe e a1 3 A
ﬁ%%lu@mm@r B, a1 B @@—@ﬁammﬁww%lmﬁm
mﬁﬁqﬁﬁﬁé@‘aﬁmtﬁél

4. 7 s1eer grfietor -
dy

=eXY 4+ x%Y

1 ST & FTd hIfeTg|

65/5/3 2




General Instructions :
Read the following instructions very carefully and strictly follow them :

NS A W N~

This question paper contains three Sections- A, B and C.

Each section is compulsory.

Section-A has 6 short-answer type-I questions of 2 marks each.
Section-B has 4 short-answer type-II questions of 3 marks each.
Section-C has 4 long-answer type questions of 4 marks each.
There is an internal choice in some questions.

Question 14 is a case study based question with two subparts of 2 marks each.

SECTION A

Question numbers 1 to 6 carry 2 marks each,

1. The Cartesian equation of a line AB is :

2x-1_y+2 z-3
12 2 3

Find the direction cosines of a line parallel to line AB.

dx
2. Find: I_\/ﬁ

3. (a

(b)

Events A and B are such that

P(A)=5, P(B) = = and P(AuB) l
Find whether the events A and B are independent or not.
OR

Abox B, contains 1 white ball and 3 red balls. Another box B, contains
2 white balls and 3 red balls. If one ball is drawn at random from each of
the boxes B, and B, then find the probability that the two balls drawn are
of the same colour.

4. Find the general solution of the following differential equation :
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- A A A D - = AN -
5. Ifa=i+j+k, a.b=land axb = j—k, then find b 2
6. Let X be a random variable which assumes values X, X,, X, X, such that 2

2P(X=x)=3P (X=x)=P (X=x,)=5P (X=x,).
Find the probability distribution of X.

SECTION B

Question numbers 7 to 10 carry 3 marks each.
N N - = -
7. (a) If a and b are two vectors such that a+bl=]Db

, then prove that 3

- o -
a +2b | is perpendicular to a .

OR
. - — .
(b) If a and b are unit vectors and 8 is the angle between them, then prove that 3
.8 1|7 7
sin 5 = 7 a b
8. (a)Find: 3
je" .sin2x dx
OR
(b) Find : ) 3
X
—_— &
'[ (xz +1) (x2+2)
9. Evaluat J% ————&/——— dx 3
. valuate :
1 Jx +/4-x
10. Find the distance of the point (2, 3,4) measured along the line x;4 = y—gs = z;l 3

from the plane 3x+2y+2z+5 = 0.
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SECTION C

Question numbers 11 to 14 carry 4 marks each.

11.

12,

13,

14.

Find the area bounded by the curves y=|x-1| and y = 1, using integration.

(a)  Solve the following differential equation :

(y—sin2 x)dx + tanxdy = 0
OR
(b)  Find the general solution of the differential equation :

(x3+y3)dy = xzydx

There are two boxes, namely box-I and box-II. Box-I contains 3 red and 6
black balls. Box-II contains 5 red and 5 black balls. One of the two boxes, is
selected at random and a ball is drawn at random. The ball drawn is found to be
red. Find the probability that this red ball comes out from box-II.

Case Study Based Question

Two motorcycles A and B are running at the speed more than the allowed speed 2x2=4

=) A A A
on the roads represented by the lines r =A|i+2j -k | and

A A A A A
=|3i+3j |+ u| 21 +j+k | respectively.

Based on the above information, answer the following questions :
(a) Find the shortest distance between the given lines.

(b) Find the point at which the motorcycles may collide.

65/5/3 7




65/5/3




	Scan_20220606 (1).pdf
	Scan_20220606 (2).pdf
	Scan_20220606 (3).pdf
	Scan_20220606 (4).pdf
	Scan_20220606 (5).pdf
	Scan_20220606 (6).pdf
	Scan_20220606 (7).pdf
	Scan_20220606 (8).pdf

